AP® MACROECONOMICS
2014 SCORING GUIDELINES

Question 1
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(a) 2 points:
e One point is earned for drawing a correctly labeled graph showing an equilibrium with AD, SRAS,
Y,, and PL, labeled.
e One point is earned for drawing a vertical LRAS curve at Y; to the right of the intersection of AD
and SRAS.

(b) 2 points:
e One point is earned for stating that cyclical unemployment will decrease.
¢ One point is earned for stating that the natural rate of unemployment will not change.

(¢) 1 point:
e One point is earned for calculating the maximum change in real GDP:
Change in GDP = (1/0.25) X $100 billion = $400 billion.
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Question 1 (continued)
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(d) 2 points:
e One point is earned for drawing a correctly labeled loanable funds market graph.
e One point is earned for shifting the demand curve to the right (or shifting the supply curve to the
left) and showing an increase in the real interest rate.
(e) 2 points:
e One point is earned for stating that the economic growth rate will fall.
e One point is earned for explaining that the higher real interest rate will slow down capital
formation.
(f) 2 points:

One point is earned for stating that real gross domestic product will increase.

One point is earned for explaining that the expansionary effect of the increase in government
spending outweighs the contractionary effect of the increase in taxes of the same size. (Or
students may explain by calculating the net increase in GDP, $100 billion, or stating the tax
multiplier is smaller than the spending multiplier.)
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GO ON TO THE NEXT PAGE.
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AP® MACROECONOMICS
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Question 1
Overview

Question 1 focused on the effects of an increase in government spending on an economy producing at a
less than full employment level of real output. Part (a) required students to construct an aggregate supply
and aggregate demand diagram and show a current equilibrium below the full employment level of real
gross domestic product. Part (b) tested students’ understanding of the effect of an increase in government
spending, financed by borrowing, on cyclical unemployment and the natural rate of unemployment. Part (c)
asked students to use the marginal propensity to consume to calculate the possible change in real gross
domestic product as a result of the increase in government spending from part (b). Part (d) required
students to draw a graph of the loanable funds market and show the effect of increased government
spending on the real interest rate, and part (e) tested the students’ understanding of the effect of the
change in the real interest rate on economic growth. Part (f) asked students to describe the output effect of
an increase in government spending financed by an equal increase in taxes.

Sample: 1A
Score: 10

The response did not earn 1 point in part (e) for failing to provide an adequate explanation.

Sample: 1B
Score: 6

The response did not eam both points in part (d) for incorrectly labeling the graph and for shifting the supply
curve to the right. The response earned 1 point in part (e) for stating that the economic growth rate would
increase, because it is consistent with the lowered interest rate in part (d). The response did not earn the
second point in part (e) for an inadequate explanation. The response did not earn both points in part (f).

Sample: 1C
Score: 3

The response earned 1 point in part (a)(i) for drawing a correctly labeled graph and showing the short-run
equilibrium at PL, and Y,. While the response did not earn 1 point in part (d) for mislabeling the graph, the
response earned the second point in part (d) for shifting the supply curve of loanable funds to the left and
indicating an increase in the real interest rate. The response earned 1 point in part (e) for stating that the
economic growth rate decreases.
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